Linear Inequality Systems

Name

Directions: Show your work!
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Algebra 1

1. Solve this system: X+Y <2

y>2x-5
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2. Solve this system: 2X+3y—92>0

X+y—-6<0
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3. Solve this system:

4. solve this system:
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2x+y<l1
y>-2x+4
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y=-x+4 y Jy=4x+ 12
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5. Which point is in the solution set of the system of
inequalities shown in the graph at the right?

1) (3,-1)
2) (2,3)
3) (0,4)
4) (-4,1)
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6. Which ordered pair is in the solution set of the following system of inequalities?

y<x—-1 and y<3x+1
1) (-1,2) 2) (1,2) 3) (2,-1) 4) (-1,-2)

{. Giventhe system x +y >5 and 3x — 2y > 4. Which ordered pair is in the solution set of x +y > 5,
but is not in the solution set of 3x — 2y >4 ?

1) (2.-5) 2) (-5,2) 3) (2,5) 4) (5,2)

8. Which choice is in the solution set to the system of inequalities: y>X+2 and y<x—47?

1) (-3,2) 2) (4,-2) 3) (2,1) 4) & (no solutions)
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9. Which ordered pair is in the solution set to the system: y > §X -3 and y>37?

1) (2,1) 2) (-4,3) 3) (0,-4) 4) (5,4)
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